HIIEIEZR AR S)

SHINE WEI ENT CO., LTD.




WEF-X &%
WEF-X SERIES

Overview

® Type : WF42X~WF142X
@® Backlash : <6-12 Arc.min

@ Ratio : 1/3~1/1000

® Capacity : 0.05KW ~ 5.5KW

L WF42X ~WF142X
R 1 <6-123%
: 1/3~1/1000
: 0.05KW ~ 5.5KW

SHine WE




n RNEESNT#E—WF42X - WF142X

CBA B

1:AL-6061-T6 » REEREREE  BER SFHEEES - - B A BB

2: BNFR G REARSERORARETAENROE - FRABEEHNE  FARAR

3 TR EMNERGERTSEBEERAS - HEREEWIBER -

« Input / Output Flange gy ,_H_”%”Mn wwmuw: S ow

1: Material is AL-6061-T6, Surface is Eloxal to improve the antioxidant capacity loading type bearing, it is
and high quality. excellent design for high

2 : Input flange is One-Piece design for sun gear and servomotor shaft get excellent i speed input of servomotor.
concentricity.

3 : Use to any brand servomotor or step motor.

* Bt EEh
RRERESMWE  BRURSHRER
SaRASBREHE /8RN -

+ Output shaft Bearing
Using low speed and high loading type
bearing, It has excellent radial / axial
loading and service life .

* KIEaEREm A
1 BESHEEWE  TEARTRE#EHNARSE -
2 ARfERVENTEIRRET

_ : . . 3: ELAOEEENER -

4 EHRMEEREL » REREEIEE P AERLLAIRK o

. - « Sun Gear and Input Shaft

“Ei / mmmrwmﬂmm}&wm . : With high precision bushing is easy to set up with any brand servomotor.
all | BAAREARRERSRENRA : Excellent dynamic balance
HEH5IE - BEEEAREHIRERIEN : Optimum mass moment of inertia.
RICE » FERE - : To modularize assembly design for rapid reaction customers all gear

+ Output / Input Flange and Inner Gear Box ratio requirement.
The output / input flange using high precision
bearing to lead assembly, Let the input to
output shaft center has excellent concentricity
for reduce vibration.

o - KB / mmm N
ZraR @t R R AT e R
B BAREIERE T R A AV » B3 2: ﬁﬁmm_wﬁ ' S1EENRES
MREMASGESANH / €A - * WERR .ﬁ.__mh ’ Amﬂm&m o

« Output Shaft EAEARE  WIEMRH S TR + Sun/Planetary Gear
Shaft is One-Piece design, for ensure the EREE - ; 1 : High strength alloy steel, high
planetary gears could accurate * Inner Gear Box hardness of surface
transmission. Enlarge the front bearing High strength alloy steel. Gear is Helical gear anti-abrasion and :_< h impact
and larger span to rear bearing for largest design for high-precision, high abrasion and - Gear is Helical gea @amm. pact.
radial and axial loading. lower noise. : N gear design,

igh efficiency, lower noise

and lower vibration .

SHine WE




s WF-X R5-148E

PRI L (D

WEF60X

WF90X

WF115X
WE115XA

WF142X
WE142X A

22.1 103 183 425
26.5 122 217 507
25.6 117 209 488
23.6 110 196 457
19.5 102 161 377
220 102 182 424
221 103 183 425
265 122 217 507
256 117 209 488
2.1 103 183 425
23.6 110 196 457
265 122 217 507
19.5 102 161 377
256 117 209 488
236 110 196 457
19.5 102 161 377

100 220 102 182 424
3~100 3SEEHENE (Nm) Wasiite (Nm)
3~100 3000 3000

2500
3~100 6000 6000 5000

3~10 =6 =6 =6

EEHHEAFE Ton (Nm)

=FHE  (Nm)
BETEWMAEZE Nin (rpm)
BARBAEZE (rpm)

B (arcmin)

15~100

3~10

HEMIYE  ( Nm/arcmin)
15~100
3~100 1780
3~100 1240
3~100 20000

BABFEAA Fas (N)
RABTHMES F2a8  (N)
EAEmS  (hrs)

fERRE (C) 3~100 -10°C+90°C

iR 3~100 SRR RS

REE 3~100 EELE

BEE (dB(A)) 3~100 = = | =60 |

= (o L1 3~10 Z97%

s O L2 15~100 =94%

L1 3~10 . 3.04 6.7 13.0
L2 15~100 2.89/3.97 | 6.99/8.82 | 13.1/16.7
B L1,L2 3~100 IPG5

D ORCEREE = a) Rk f5 i AR (rpm ) /JBCER A 1 i 21

P HIRERAE 2% BERIHIER THG

s AR/ e ) B EE A SR AT R 100rpm, HL7E T AE S Hidh oL B

D G, Sy B

DR Rofe) ik i A ER3000rpm, R EREE 1OLL, S S 3K, BERCEREE 1M HYBE I T Tl
D AERPARARAS R A S S I U/ AL s

58 (kg)

Sune Wel




= WF-X Z5l

WF42X
WF60X

WF90X
WFI115X
WFI115XA
WF142X
WF142XA

B

L1(—B et
L2(— B ELE)
L3(= Pt

GLE

falfR/ 25 3 B2y
Jg REE - AR B S
REGCHR o ANPfTER
H5149-150H o

P

MAERERER  S(HhshATE.OE)

K(tH hEE %)

B
MK

— B LB

B LB

= B LB

WF42X

3,4,5,7,8,10

15,20,25,35,40,50

150,200,250,350,400,500

WF60X

3,4,5,7,9,10

15,20,25,30,35,40,50,70,90,100

150,200,250,300,350,400,450,500,700,900,1000

WF90X

3,4,5,7,9,10

15,20,25,30,35,40,50,70,90,100

150,200,250,300,350,400,450,500,700,900,1000

WF115X
WF115XA

3,4,5,7,9,10

15,20,25,30,35,40,50,70,90,100

150,200,250,300,350,400,450,500,700,900,1000

WF142X
WF142XA

3,4,5,7,9,10

15,20,25,30,35,40,50,70,90,100

150,200,250,300,350,400,450,500,700,900,1000

Sune WE




s WF-X IRiega RIINE RSTE /& L1

B2

T

o —

==
B

(B8fsz:mm)

WF42X

WF115X

WF115XA

WF142X

WF142XA

A1

50

130

145

165

165

A2

3.5

6.6

9

9

11

11

A3

35

80

110

110

130

130

A4

13

22

32

32

38

40

A5

15

24.5

35

35

41

43

A6

5

6

10

10

12

12

A7

M4x0.7P

M6x1.0P

M8x1.25P

M8x1.25P

M16x2.0P

M16x2.0P

A8

60

115

156

156

190

190

B1

46

88

116

116

142

142

B2

15

30

40

40

35

65

B3

2

3

5

5

5

5

B4

25

64

64

81

92

B5

1

1.5

2

2

3

3

B6

5

5

10

10

10

10

B7

8

8

14

14

15

15

B8

35

47

47

56.6

56.6

B9

33

71

71

104

104

B10

26

31

56

56

82.5

82.5

B11

17

21

34

8

8

20

20

B12

196

196

256.5

267.5

C1

46

62

88

120

120

176

176

C2

46

70

90

145

145

200

200

C3

M4x0.7P

M5x0.8P

M6x1.0P

M8x1.25P

M8x1.25P

M12x1.75P

M12x1.75P

C4

30

50

70

110

110

114.3

114.3

C5

5~8

6~14

14~24

16~24

16~24

24~42

24~42

1.BO~COSRBREMNEREMRT  BRRISABEERIAMED), ANBECHUWMRFE149-1508

2B1I2RTWBRMBRARBETAMENE WEFANERTHERE LT

Sune Wel




s WF-X IRiesa RIINE RSTE /R L2

(BEfiz:mm)

WF42X

WF60X

WF115X

WF115XA

WF142X

WF142XA

50

70

130

145

165

165

3.5

5.5

9

9

11

1

35

50

110

110

130

130

13

16

32

32

38

40

15

18

35

35

41

43

5

5

10

10

12

12

M4x0.7P

M5x0.8P

M8x1.25P

M8x1.25P

M16x2.0P

M16x2.0P

60

82

156

156

190

190

46

62

116

116

142

142

15

20

40

40

35

65

2

3

5

5

5

5

25

64

64

81

92

1

1.5

2

2

3

3

5

5

10

10

10

10

8

8

14

14

15

15

35

47

47

56.6

56.6

33

71

71

104

104

26

31

56

56

82.5

82.5

17

21

34

8

8

20

20

228.5

228.5

307

318

C1

46

62

88

120

120

176

176

C2

46

70

90

145

145

200

200

C3

M4x(0.7P

M5x0.8P

M6x1.0P

M8x1.25P

M8x1.25P

M12x1.75P

M12x1.75P

C4

30

50

70

110

110

114.3

114.3

C5

5~8

6~14

14~24

16~24

16~24

24~42

24~42

1.BO~CO5RRENEREIRRYT  BERRISABEERITAMEE, ANBECRMMKRE149-1508
2BI2RMWERAMERAKRSFEFIAMENE NWEFANERTFESBERAT

Sune Wel




LT R

¥ + +4 4
L -

e
-¢_+.|-|.~

-k
*

Ed

Ll
bbb
e
e Ll AL
SRR
e [
Bas
&#
-
o
= 22
i
i

A

4 e

W,




